
SAP ABAP table DIPLAB {Output structure relationships task lists}

DIPLAB

MANDT [CLNT (3)]

AENNR [CHAR (12)]

ZEINH [UNIT (3)]

KALID [CHAR (2)]

WERKS [CHAR (4)]

AENR

MANDT [CLNT (3)]

AENNR [CHAR (12)]
 DIPLAB-AENNR = AENR-AENNR {0,1}

{0,1}

T000

MANDT [CLNT (3)] DIPLAB-MANDT = T000-MANDT 0..N

1
T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 DIPLAB-WERKS = T001W-WERKS 
0..N1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 DIPLAB-ZEINH = T006-MSEHI 

0..N

{0,1}

TFACD

IDENT [CHAR (2)]

 DIPLAB-KALID = TFACD-IDENT 

0..N

{0,1}


